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1 4 D25 2915 834.9 dctt 68 7320 3500 0972 2364 2390 0.99 NG
;E 2 1 D25 2915 1 626.2 dcs 74 " 117.000 5029 6.123 1.793 3.42 OK
I 2 0 D25 2915 626.2 dcs 74 732.0
1 4 D25 2915 834.9 dctF 68 3,500 0972 2919 2390 1.22 OK
STP 2 D13 @200 pw= 0.002822 Aw= 254 Awo= 127
1 4 D25 2915 834.9 dctt 68 7320 3.500 0972 2364 2390 0.99 NG
Em 2 1 D25 2915 1 626.2 dcs 74 " 117.000 5029 6.123 1.793 3.42 OK
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3F- Gi b= 500 D= 800 Fc= 24 FH5 SD 345
Y1 X1-X2 L(Ld)mm E>SHkEE A O d bi kst T Ty BELE HTE
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Em 2 2 D25 2915 1 626.2 dcs 66 ' 9.000 2515 3.282 1.764 1.86 OK
1) 2 D25 2915 626.2 dcs 66 696.0 9.000 2515 4.051 1.764 2.30 OK
1 4 D25 2915 834.9 dctF 104 4000 0972 3.127 | 2.352 1.33 OK




